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“How Does a Hawaiian wm..zo:m rm:mr~

Simplify mmo: expression below, Find <o_.= answer at the bottom of the um@m &a oBmm oE the letter above it.

© When you'finish, the answer to the E_m question will remain. , |

(D -3x+9x Q —2y +7y + 4 @ 9 —3x~ (—8y) + 99X —y
(2) 2y - 10y (9) 5x+7+x-9x .x 4y -12- 5y +8y
(3) —6x+x 10 -8y—2y—4+4y .mx+.\ 7y +2x— 3y — 1
() 12y -y (1) 6x—(~3x)+x—6 @ —9x —y + 1+ 5y +5x— 10
(5) —4x—5x (2 4x+2y+4x—5y (19 —x+8+6x—dy—8x+3
(6) 8y —(-8y) (3 ex+8y-3-7y @0) 4x—7+y—T7x~ (~3y)
(7) —x—(=10x) (14 —6x—2y+8+5x—1 @) 8x—5y—x+9-y




